117-073(  B"-078) (1/1)

cm
10|20
10(20(30
0 30 40 50 60
E 0.60 0.6 =
E VAYAYAYA =
E VA E
AANAN 3
\YAVAVAVAY] 11.15 | 7 =
AANAN
VAV vy e e B 3
ANAAA N . =
VA =
AAAAN =
(VAVAVAVAY] 2.15 § =
AANAN =
VAVAVAVAY] 1123 4 =
AANAN 2.45 =
(VAVAVAVAY] 3
ANAAA N E
(VAVAVAVAY] 3.15 4 =
AAAAN — / E
i b -
VAVAVAVAY] 3.45 =
AANAN =
VA 92 |, s 4
ANAAAN 4.65 15 7 =
o ' ale o) 4 |
\YAVAVAVAY 4.45 —
AANAN — =
VAVAVAVAY] 4 =
AANAN 5.15 4 -
(VAVAVAVAY] =
ANAAAN SEEEEEEAL AN, E
5.78 5.49% Y YV : =
6.15 1 [ 1 3 =
6.30 0.55———— =77 / E
T 1191 |3]| 4 =
LT 6.45 =
RN =
O
TP 7.15 14 =
. oé) ) / 3
7.50 1.2 ", ", 4|5 |5 |30]| 14 =
O-0- 0O 7.45 —
S0 0- I =
O-0-0 2 | 50 -
0 -0 - 8.15 -
O-0-0 /| 7/ 3
YO0 1315 9 |29 |51.7 =
O .0O- 0O 8.44 —
-0-0O- =
O- 0O-0
9 |50
10408 9.15 AW
25959 16 | 25| 2 | 22 |68.2] N
O-0-0 9.37
T0:0:
05959 12 | 50 -
O-0- 0 10.15 / / =
“0: 0" 15| 23| 3 | 23 |65.2) —N =
10.60 3.109 ~ 9" O 10,38 E
— 50 =
11.25 0.65 — jAL.15) Y =
= 9 |18[23|30| 5 3
- 11.45 3
- 1215 10 | 50 =
- 12. 15| 7|7 N\ =
14 26| 2 | 22]68.2 =
@ 12.37
- 13.15 Y =
- 113.15] /7|7
13.36 2.1~ — " 13301 [21]71.4 -
13.36 =




